—

Ocwy piak Wdovotwoy &L — Accn seaas N CAY GE\S\)
FLE), £4, 3, 6, %8, Hu | K42, %14 XeON HBU GTmy T&Rv\.
\FA Y ). ) @ 'Onws  Gwy ‘*’&&@O,QQ\cq NI ut\om\@mbé\l X, TN,
\lm\(X,\i?w\\) eXY). ;(X(m: S (A1 3Y | okl , EX= &\xg 0 d x ,
EXH) = &\A“E\x(ﬂéx , NoX = XY - €)Y Aoy SIRRPRT - snde
AN \'\S\k\sé\\:\'\us , EN=EX, VoY = Nar X ,’3,5\}\35/%0(% __ig\x\i(m\@c\xc\i.
QY Awd}\oqu Yo o (), K (x) = &mg—\i Ak&;?xm , e X 22D v
EX = Nack=4. g‘\!(\l\z Pl dx 2yt yro, oy Y~ Glomz, g=0)
var BN =2 NaN=12 . ® Ty, BN = Sm&\jwj &? Axég: Szggét\éi:
L?f Tla) = —‘-i%\ =3 . Jovanws | Cov (‘/\,\nc; (&)) ?x,\[:%) \[o:( (%- W) =A9.

a. 6w £ To ononC)bho TS TLoTeens plms | ondnk M= WL
cat XY = =7, Vo (x4 )= Voo (-2) =N = €22V -€2), BT=4 (e

x4 45 46)= 3 . U\ = —LG—(\L+73+§+¢2+§+ ¢).

—
—

Y, v = Yoxez T

Con (X, ¥%37) = N \ o
- = ___jif\;_____ — ‘% , enudh WT ucoigTwTes e
- o) & l X [} [
¥ Mo X - N (142) ¥ MocX - 2Nox CRON KON\ C ot WO |

- \IZV—'X N \ION'(X”\l\: \lmf(l\/\ °\l\: q,\lo\(X=4\1§>q

= - ovopetd pan o, nadw Y= X+ we o £6 ) .

Q\[\’\!: ?X)\’{X = —?X,‘)( D ARNRW S
ﬁ' O\ XN Nou cx\!%dQ\V\’\k,S ye Y. OW W ‘i\%&\bg\u \C—U"QVOV\'I\ '\7(\(‘—0\\ "?(\{:(ﬂ

= Vq =2 P(¥=-a) = °(N=-a). Pew Now (%= = Vag K YNy = 2 Nar X = zaz)

= O Q}\o\@u Q\\\Q’}KJ\Q"‘\G\.OKS\)_

Vx;
il \(O\{.\)\:\\U\((\I\'\-\D:? ;

Nor (NAZ)= . Con (W= Con (X3 NA2)
E:\\:%\ > )

= CD\L(\\‘)\‘\SI\lO\‘(\\:qn ?\)‘\]: _%%—:. 4—;_-

TNt VoL GoTWTIO c-9 \oxckox') Ex=tN=o0.
(. | Cov (3%Y N+2Z) = NoxN = 20-16 = 4.
N Y S = A = -2,~1
L [t R o= A x=-80, 4 ex=o, Yo X= § (9=5 4= |
— eY= 0o (3w ’*I\QCAdX&Au\))M &K 0N ?(X:"q\\‘:*\: "4 + P (X=-) PN=)=
- _ AL N == O,
-4 W= %%xg&b&. ) = ~4"&~.& + 4 ( 0-‘4 + LA G + ( 2)(2)4
SeTT ) ¢ I AL AT fuveday *

\6

@ Ei‘lb\\ 0 '\‘2\&«0\\\‘&«3\ Q NOTNTA) 4
Coee () € (Wt + VNust) @ oot Y ooy +
)

U § Wy ONTRS &vo TCJQdX\w\m |
2 Con (WY) < Vot + Mo + 2 WNose Wy & Cov (W) &\Y\—lai-m}

18

NOU 16 YOLL  RSE® TNS sueotwwas O



